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3xty = (=3x%y3) x 2x%y* & 7tAs] SFH?
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6. axy?x(xy)?=-3xy"d W, q, b, c9] F2?

Da=-1,b=-2,c=3 @ a=-3,b=-4,c=3

@ a=4,b=-2,¢c=3 @ a=3,b=3c=4

@a=—3,b=3,c:4
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axy® x (xy)? = =3x°
ax(1+b)y(2+b) _ _3xcy5 olmg
a=-3,1+b=c,2+b=5
ca=-3,b=3,c=14
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9. o thd4olA 2x-5yE Hsfob & A& A5t MilEY Tx -4y
7F = A o] o, vi2A] Aot 27

O -7x-14y @ b5x-2y @11x—14y

@ 14x-Ty ® 20x + 4y

B
ol| 42 Act ot
A - (2x—5y) =Tx—4y
A= (Tx—4y) + (2x—5y) = 9x — 9y
wh2bA] BF2 A Al4FSHA (9x - 9y) + (2x - 5y) =
11x — 14y o]t}
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x(5x —2) oy (6x3y — 12x2y)
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@ 8 @12 ® -4 @ -7 ® -15

a>+b*=(a-b)?+2ab=(-2)2+2x4=12
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= —2x% 4+ bxy — x — 2x%y — 6xy% — 8xy || Al
xy @9t At B 5xy — 8xy = —3uxy
=3




13.

W9 7] Polo} A0l Fol7} 247t 3a, 2b A A7 50l ik,
| A7 50] 2307} 60ab? < ], o] A2715-9] ol

(<]

@ 5a @ 5b ® 10a @ 10ab @101)

A7) 50] ol 2 h 2t &
3a X 2b x h = 60ab?

6ab x h = 60ab>
. h=10b




14. A (3x° +x-2) + (=5x% = Tx + 1) ZFehs] Sha?

@—2x2—6x—1 @ -2x2+6x+1 @ —2x2-5x-1

@ 8x2—-4x-1 ® 8x2+4x+1

(Bx2+x—2)+ (-5x? - Tx+ 1)
=32 +x-2-5x2-Tx+1
=-2x2-6x-1
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o o)
o2 427

O -2x-y @ -2x+y ® x+y
@x—l—Qy ® 3x+ 3y
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:3x—2(x+2y—y+3x+\:|)
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(x+A)(x+ B) B AASFAHY 22 + Cx+ 8 ©] HA. tH2 F € 9
ol = 4 gl Z27? (H, A, B, C = Aot}

® -9 @ -6 @3 @ 6 3 9

(x+A)(x+B) =x>+(A+B)x+AB=x*>+Cx+ 8 °|B2
A+B=C, AB =8 o]t}

w2t €= (148, 2+4,-1-8, —2-4)=(9, 6, -9, —6)
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20. x=a(a+5 L, (a-1)(a+2)(a+3)(a+6)=x°] T AOR
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@x2—36 @ x2-6 ® x2+6
@ x*+36 ® x2-12x+36
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x=ala+5)=a*+5a¥ I,
a—l)( 2)(a+ 3)(a+ 6)
{a=1)(a+6)}{(a+2)(a+3)}
= (a® +5a 6)(a* + 5a + 6)

= (x-6)(x+06)

=x>-36




